SAP ABAP table UKM S BOL {Structure of POWL 'Blocked Sales Orders'}
UKM_S BOL-LCNUM = AKKP-LCNUM

- T T T T - - - _ AKKP
- 0..N
- MANDT [CLNT (3)]
L LCNUM [CHAR (10)]
o UKM_S_BOL-KNKLI = KNA1-KUNNR
/ - = ~ - - _
: - e KNA1L
MANDT [CLNT (3)]
UKM_S_BOL-KUNAG = KNAIKKUNNR gy |KUNNR [CHAR (10)]
UKM S BOL-MANDT = TO00-MANDT TO00

e mmmTTTTTTTTTTT 0..N 'MANDT [CLNT (3)]

UKM_S BOL-LAND = TO05-LANDL _ T005
_--mT T 0..N | MANDT [CLNT (3)]
P LAND1 [CHAR (3)]
TO014

B 0..N [ MANDT [CLNT (3)]
- KKBER [CHAR (4)]

g T024B

MANDT [CLNT (3)]
_----~""0.N |SBGRP [CHAR (3)]
- KKBER [CHAR (4)]

- T691A
MANDT [CLNT (3)]
UKM S BOL-CTLPC = T691A-CTLPC __ 0N |CTLPC [CHAR (3)]

-7 KKBER [CHAR (4)]

-7 T691B
o MANDT [CLNT (3)]
UKM S BOL-GRUPP = T691B-GRUPP gy |SRUEP [CHAR (4)]

-7 KKBER [CHAR (4)]

- T691D
0.1} UKM S BOL-CRMGR = T691D- -CRMGR CM __ - [MANDT [CLNT (3)]
__________________ " [CRMGR_CM [CHAR (2)]
 UKM_S_BOL-SIZEC = T691I-SIZEC
T - T691lI
UKM S BOL-CMWAE = TCURC-WAERS 0..N [MANDT [CLNT (3)]
T RN SIZEC [CHAR (3)]
UKM_S BOL-WAERK = TCURC-WAERS .
\\\\\ ————————————————————— ‘O..N TCURC
UKM S BOL-WAERS = TCURC-WAERS 0.N [MANDT [CINT )]
Tl - - 02N [WAERS [CUKY (5)]
- UKM S BOL-REJECT. REASON = TVAG-ABGRU
\ TVAG
0.ONN!.NQ..N..N" Tl MANDT [CLNT (3)]
. e - 0.N
L L UKM S BOL-VKORG = TVKO-VKORG ABGRU [CHAR (2)]
\ \ =~ N
‘\ \\ \ \\ h ~ -
VLN R TVKO
I el MANDT [CLNT (3)]
(I \ S S
o ~_ UKM_S BOLVTWEG = TVKOV-VTWEG 0N VKORG [CHAR (4)]
\ N
\‘ \ \ N
P \\ RN -
Co o TVKOV
\ S <
— " Tl MANDT [CLNT (3)]
\ \ \ Tt --
—————————— N | VKORG [CHAR (4
L " UKM S BOL-SPART = TVTA-SPART 0.N | VKORG [CHAR (4)]
AN AN VTWEG [CHAR (2)]
\\ \ N .
\ \ RN
CY S TVTA
\ S <
) . S~ MANDT [CLNT (3)]
| N “‘\---_____D_N VKORG [CHAR (4)]
\\ ', UKMS BOL-ANALYST = USRO2-BNAME N R
\ N
' RN SPART [CHAR (2)]
\ N
\ = ~
\ = ~ o
Y e USRO2
\ - - =~ o~
N T ____ 0N MANDT [CLNT (3)]
. _ N
. UKM.S BOL-POSNR = VBUP-POSNR BNAME [CHAR (12)]
N VBUP
S~ MANDT [CLNT (3)]

____________ 0-N | VBELN [CHAR (10)]
POSNR [NUMC (6)]




